17.06.2020
L.O: To subtract two 2 digit numbers.

Use a preferred method to solve the below questions. Explain how you have
worked out the answer and reasons for your chosen method.

éa. Complete the part whole model.
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7a. Use Base 10 or a place value chart to
calculate the missing value.
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8a. True or false?



17.06.2020
L.O: To subtract two 2 digit numbers.

Spot the mistakes! Once you have worked out the mistakes, work out the
answers and show your thinking on a number line.

é6a. Abdul is using a number line to solve
83 - 54,

- 50 -4 -3

NN

26 76 80 83

What mistake has he made?

Answers:

éa. Abdul has subtracted 7 ones. He
should have only subtracted 4 ones. The
correct answer should be 29,

6b. Romeo is using a number line to solve
74 - 38,

40 70 74

What mistake has he made?

6b. Romeo has not subtracted the 4 ones
that makes up the other part of 8 ones.
The correct answer should be 3é.



